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1. gkbMªkbM t ks bysDVªkWu&U; wu ugha gS] og gS%
(A) AlH3 (B) GaH3 (C) SiH4 (D) B2H6

Sol. C
(1) B2H6 : Electron deficient
(2) AlH3  : Electron deficient
(3) SiH4  : Electron precise
(4) GaH3 : Electron deficient

2. vfHkfØ; k MgO(s) + C(s)  Mg(s) + CO(g)ft l dk rHº = +491.1 kJ mol–1 r Fkk rSº = 198.0 JK–1 mol–1,
298 K i j  l aHko ugh gSA og r ki  ft l ds Åi j  vfHkfØ; k l aHko ugh gksxh] gS &
(A) 1890.0 K (B)2040.5 K (C) 2480.3 K (D) 2380.5 K

Sol. C

eq
HT
S




491.1 1000
198


= 2480.3 K

3. gok esa fdl dh mPp l kUnzr k Qwy dh dfy; ksa esa l [ r i u yk l dr h gS\
(A) SO2 (B) NO2 (C) CO2 (D) CO

Sol. A
Due to acid rain in plants high concentration of SO2 makes the flower buds stiff and makes them
fall.

4. 4-gkbMªkDl h C; wVsuksbd vEy l s cuus okyk l ecgqyd gS :

(A) C(CH ) —O2 3

O

n
(B) OC(CH ) —O2 3

O

n

(C) C(CH ) C—O2 2

O O

n
(D) C(CH ) C2 2

O O

n
Sol. A

It is a formation of polyester

OH

O

OH

Polymerisation —C—(CH ) —O—2 3
n

O

5. r kt egy /khj s&/khj s fo: i  r Fkk csj ax gksr k t k j gk gSA ; g eq[ ;  : i  l s bl  dkj .k l s gS :
(A) vEy òf"V (B) Xykscy okfeZax (C) eǹk i znq"k.k (D) t y  i znq"k.k

Sol. A
Taj mahal is slowely disfigured and discoloured due to acid rain.

[CHEMISTRY][CHEMISTRY]
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6. vfHkfØ; k t ks fuLr ki u dks i fj Hkkf"kr  ugha dj r h gS] gS%

(A) CaCO3. MgCO3
  CaO + MgO + 2CO2

(B) Fe2O3.XH2O   Fe2O3 + XH2O

(C) ZnCO3   ZnO + CO2

(D) 2 Cu2S + 3 O2   2Cu2O + 2SO2

Sol. D
Calcinatin in carried out for carbonates and oxide ores in absence of oxygen. Roasting is carried out
mainly for sulphide ores in presence of excess of oxygen.

7. 2 H2O   = H3O+ + OH–, l kE;  ds fy ,  298 K i j  Gº dk eku yxHkx gS%

(A) 100 kJ mol–1 (B) –80 kJ mol–1 (C) –100 kJ mol–1 (D) 80 kJ mol–1

Sol. D
2H2O = H3O + OH– K = 10–14

G0 = RT  n K

= 148.314 298 n10
1000

   

= 80 Kj/Mole

8. dksykbMksa t Sl s i uhj  (C), nw/k (M) r Fkk /kqvka (S), ds fo"k;  esa i fj f{kIr  i zkoLFkk r Fkk i fj {ksi .k ek/; e dk l gh esy Øe' k% gksxk %
(A) C : nzo esa Bksl  ; M : nzo esa Bksl  ;

S : xSl  esa Bksl
(B) C : Bksl  esa nzo; M : nzo esa nzo:

S : xSl  esa Bksl
(C) C : Bksl  esa nzo ; M : Bksl  esa nzo ;

S : xSl  esa Bksl
(D) C : nzo esa Bksl ; M : nzo esa nzo;

S : Bksl  esa xSl
Sol. B

Dispersed 
Phase

Dispersion 
Medium

Cheese Liquid Solid
Milk Liquid Liquid
Smoke Solid Gas

9. i zdkf' kd bysDVªkWu l s l EfcU/kr  fM&czksXyh r j axnS/; Z () vki fr r  fofdj .k dh vkòfr  (  ) ds l kFk bl  i zdkj  i fj ofr Zr  gksr h gS]
[  0 nsgyh vkòfÙk gS] :

(A)   
3
20

1

  
(B)   0

1
  

(C)   
1
40

1

  
(D)  

1
20

1

  

Sol. D
For electron

DB 2mK.E.


  (de broglie wavelength)

By photoelectric effect
hv = hv0 + KE
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KE = hv – hv0

DB
0

h
2m (hv hv )

 
 

DB 1/2
0

1
(v v )

 


10. Co2(CO)8, esa l sr q ca/ku CO fyxUM r Fkk Co-Co vkcU/k@vkcU/kksa dh l a[ ; k Øe' k% gS%
(A) 2 r Fkk 1 (B) 0 r Fkk 2 (C) 4 r Fkk 0 (D) 2 r Fkk 0

Sol. A

Bridging CO are and Co – Co bond is 1.

11. dkWye I esa fn; s x; s fuEu enksa dks muds l axr  dkWye II esa fn; s x; s enksa l s l qesfyr  dhft , A
en I en II

(i) Na2CO3.10H2O (A) i ksVZySaM l haesaV dk l a?kVd
(ii) Mg(HCO3)2 (B) dSLVuj  dsyuj  i zØe
(iii) NaOH (C) l kYos i zØe
(iv) Ca3Al2O6 (D) vLFkk; h dBksj r k
(A) (i)  (D) ; (ii)  (A) ; (iii)  (B) ; (iv)  (C)
(B) (i)  (B) ; (ii)  (C) ; (iii)  (A) ; (iv)  (D)
(C) (i)  (C) ; (ii)  (B) ; (iii)  (D) ; (iv)  (A)
(D) (i)  (C) ; (ii)  (D) ; (iii)  (B) ; (iv)  (A)

Sol. D
Na2CO3.10H2O  Solvay process
Mg(HCO3)2  Temporary hardness
NaOH  Castner-kellner cell
Ca3Al2O6  Portland cement

12. AgNO3 ds l kFk fuEu ; kSfxdksa esa l s dkSu l k vo{ksi  nsxk%?

(A) 
N

Br

(B) 

Br

(C) 

Br

(D)

Br

Sol. B

as it can produce aromatic cation so will produce precipitate with AgNO3.
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13. en I r Fkk en II ds chp l gh l qesy gS :
en I en II

(A) , LVj  i j h{k.k (P) Tyr
(B) dkchZy,ehu i j h{k.k (Q) Asp
(C) FkSyhu Mkb VsLV (R) Ser

(S) Lys
(A) (A)  (Q) ; (B)  (S) ; (C)  (R)
(B) (A)  (R) ; (B)  (S) ; (C)  (Q)
(C) (A)  (R) ; (B)  (Q) ; (C)  (P)
(D) (A)  (Q) ; (B)  (S) ; (C)  (P)

Sol. D

(P) Tyrosine Tyr OH CH –CH–C–OH2

NH2O

(Q) Aspartic ASP Acid 
H–O–C–CH –CH–C–OH2

OO NH2

(R) Serine Ser OH–CH –CH2

NH2

COOH

(S) Lysine 

NH2

COOH

NH –CH –CH –CH –CH –CH2 2 2 2 2

(A) Ester test (Q) Aspartic acid (Acidic amino acid)
(B) Carbylamine (S) Lysine [NH2 group present]
(C) Phthalein dye (P) Tyrosine {Phenolic group present}

14. fuEu : i kUr j .k esa i zkIr  gksus okyk eq[ ;  mRi kn gS%

O

CH3 O

O

 2Br 1 eqv.
MeOH

(A) 

O

O
CH3

OMe
O

Br

(B) 

O

O

CH3 O

Br

(C)  

O

O

CH3 O

Br

(D) 

O

O

CH3 O

OMe

Br
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Sol. D

15. , d ; kSfxd ‘X’ dks Br2/NaOH, ds l kFk vfHkd r̀  djus i j  C3H9N, fn; k t ks /kukRed dkfcZy, ehu t k¡p nsr k gSA ; kSfxd ‘X’ dh
l aj puk gS% :
(A) CH3CON(CH3)2 (B) CH3CH2COCH2NH2
(C) CH3CH2CH2CONH2 (D) CH3COCH2NHCH3

Sol. C

[X] C H N3 9

Br2

NaoH
CHCl3
KOH

CH CH CH –NC3 2 2

Hoff mann's
Bromaide

degradation

Carbylamine
Reaction

Thus [X] must be amide with one carbon more than is amine
Thus [X] is CH3CH2CH2CONH2

16. r Roksa ds i kmfyax fo| qr  _ .kkRedr k eku dk l gh fodYi  gS%
(A) Si < Al (B) Te > Se (C) P > S (D) Ga < Ge

Sol. D

Ga<Ge

B
Al

C
Si

Along the period electronegativity increases

17. 25 ml HCl foy; u ds fy ; s 0.1 M l ksfM; e dkcksZusV foy; u dk 30 mL vko' ; d gksr k gS] 0.2 M t yh;  NaOH ds 30 ml
foy; u dks vuqekfi r  dj us ds fy ; s bl   HCl foy; u ds fdr us vk; r u dh vko' ; dr k gksxh\
(A) 75 mL (B) 50 mL (C) 25 mL (D) 12.5 mL

Sol. C
HCl with Na2CO3
Eq. of HCl = Eq. of Na2CO3

25 30M 1 0.1 2
1000 1000

    

6M M
25


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Eq of HCl = Eq. of NaOH

6 V 301 0.2 1
25 1000 1000

    

V = 25 ml

18. fuEu vfHkfØ; k esa i zkIr  eq[ ;  mRi kn gS%

O NO2 

O OH

CH3  
4LiAlH

excess

(A)  

OHNO2 

OH

CH3 (B)

OHNH2 

OH

CH3

(C) 

OHNH2 

OH

CH3 (D) 

OHNO2 

O OH

CH3

Sol. B

NO2 NH2

C–CH3 C–CH3

O OH

COOH CH –OH2

LiAlH4

excess

LiAlH4 will not affect C=C in this compound.

19. dk;  dsfUnzr  ?ku , dy l sy ds dksj  ds dsUnz esa cSBus okys ¼fQV gksus okys½ l cl s cM+s xksys dh f=kT; k gksxh ¼dksj  dh yEckbZ dks 'a'
} kj k O; Dr  fd; k x; k gS%½
(A) 0.067 a (B) 0.047 a (C) 0.027 a (D) 0.134 a

Sol. A
a = 2(R + r)

a (R r) ...(1)
2
 

a 3 4R ...(2)
using (1) & (2)

a a 3 r
2 4
 

2 3a r
4

 
  

 
r = 0.067a
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20. vfHkfØ; k 2X  B , d ' kqU;  dksfV dh vfHkfØ; k gSA 0.2 M, dh i zkj fEHkd l kUnzr k ds fy , ] v) Zvk; q 6 h gSA ; fn X dh i zkj fEHkd
l kUnzr k 0.5 M gks r ks 0.2 M dh vafr e l kUnzr k i gqpus esa yxus okyk l e;  gksxk :
(A) 12.0 h (B) 9.0 h (C) 7.2 h (D) 18.0 h

Sol. D
For zero order
[A0]–[At] = kt
0.2 – 0.1 = k×6

1k M/hr
60



and 0.5–0.2 = 
1 t
60



t = 18 hrs.

21. i j e r ki  T i j  , d j kl k; fud vfHkfØ; k ds fy ,  ekud vfHkfØ; k fxCt  Åt kZ fuEu ds } kj k vfHkO; Dr  dh t kr h gS%
rGº = A – BT

t gk¡ A r Fkk B ' kwU;  u gksus okys fLFkj kad gSA bl  vfHkfØ; k ds fy ,  fuEu esa l s dkSu&l k l R;  gS\
(A) Å"ek{ksi h ; fn B < 0
(B) Å"ek{ksi h ; fn A > 0 r Fkk B < 0
(C) Å"ek' kks"kh ; fn A > 0
(D) Å"ek' kks"kh ; fn A < 0 r Fkk B > 0

Sol. C
Theory

22. K2HgI4 t yh;  foy; u esa 40% vk; fur  gSA bl ds okUVgkWQ xq.kkad (i) dk eku gksxk%
(A) 2.0 (B) 1.8 (C) 2.2 (D) 1.6

Sol. B
For K2[HgI4]
i = 1 + 0.4 (3 – 1)

= 1.8

23. en I r Fkk en II ds chp l gh l qesy gS%
en I en II

(A) , syksLVsfj d i zHkkj (P) , Ut kbe ds l fØ;  Hkkx l s v.kq dk ca/ku
(B) i zfr ; ksxh fuj ks/kd (Q) ' kj hj  esa l adVdkyhu l al wpd v.kq
(C) xzkgh (R) , Ut kbe ds l fØ;  Hkkx ds vykok v.kq dk ca/ku
(D) fo"k (S) v.kq t ks , Ut kbe l s l gl a; kst u : i  l s vkcaf/kr  gS
(A) (A)  (P) ; (B)  (R) ; (C)  (Q) ; (D)  (S)
(B) (A)  (P) ; (B)  (R) ; (C)  (S) ; (D)  (Q)
(C) (A)  (R) ; (B)  (P) ; (C)  (S) ; (D)  (Q)
(D) (A)  (R) ; (B)  (P) ; (C)  (Q) ; (D)  (S)

Sol. D

24. fuEu ; kSfxd esa

N

N
H

N

N

NH2d
a

b

c
e
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i zksVuhdj .k ds fy ,  vuqdwy LFky gS@gSa :

(A) a r Fkk e (B) a
(C) b, c r Fkk d (D) a r Fkk d

Sol. C
Localised lone pair e–.

25. Cu(s) + 2Ag+(aq)  Cu2+ (aq) + 2Ag(s) vfHkfØ; k dk fn; k x; k l kE;  fLFkj kad] kC, 10 × 1015 gSA 298 K i j  bl

vfHkfØ; k ds Eºcell dh x.kuk dhft , &

RT2.303 at 298 K 0.059V
F

   

(A) 0.04736 V (B) 0.4736 V
(C) 0.4736 mV (D) 0.04736 mV

Sol. B

0
cell cell

0.059E E logQ
n

 

At equilibrium

16
cell

0.059E log10
n



= 0.059×8
= 0.472 V

26. K4[Th(C2O4)4(OH2)2] esa Th dh l eUo;  l a[ ; k gS %

 2
2 4C O oxalato 

(A) 10 (B) 8 (C) 6 (D) 14
Sol. A

2
2 4C O  (oxalato) : bidentate

H2O (aqua) : Monodentate

27. fuEu vfHkfØ; k dk eq[ ;  mRi kn gS%

HO
 

   3

1 HCl
2 AlCl Anhyd.

(A) 
Cl

(B)
HO

(C) 

Cl

(D)

HO
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Sol. D

HO

HO

HO
Cl

C=C

–AlCl3
–AlCl4

HCl

28. A 24KOH,O  2B + 2H2O
(gj k)

3B 4 HCl  2C + MnO2 + 2H2O
(cSaxuh)

2C 2H O,Kl  2A + 2 KOH + D
vfHkfØ; kvksa ds mi j ksDr  Øe esa, A r Fkk D, Øe' k% gS%
(A) Kl r Fkk KMnO4 (B) MnO2 r Fkk KlO3

(C) Kl r Fkk K2MnO4 (D) KlO3 r Fkk MnO2

Sol. B

MnO (A)2 2K MnO (B) + 2H O2 4 2

(Green)

4KOH,O2

3K MnO (B)2 4 2K MnO (C) + 2H O2 4 2

(Purple)

4HCL

3K MnO (C)2 4 2MnO (A)+2KOH+KIO (D)2 3

H O,KI2

A  MnO2

D KIO3

29. xzqi  13 r Roksa dh +1 vkWDl hdj .k voLFkk dk vki sf{kd LFkkf; Ro bl  Øe esa gS%
(A) Al <Ga < ln < Tl (B) Ga < Al < ln < Tl
(C) Tl < In < Ga < Al (D) Al < Ga <Tl < In

Sol. A
Due to inert pair effect as we move down the group in 13th group lower oxidation state becomes
more stable.
AI<Ga<In<T
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30. fuEufyf[ kr  esa l s dkSu&l k ; kSfxd , fFky eSXuhf' k; e czksekbM l s vfHkfØ; k dj r k gS r Fkk czksehu t y dks j axghu Hkh dj r k gS\

(A) 

CN O

(B)

OCH3

CH
CH2

(C) 

CN
CH —CO CH2 2 3

(D) 

OH

Sol. C, D

OH OMgBr

declolourizes Bromine water

EtMgBr + CH – CH3 3


